
یااض) و(خد ا پاتد و

ا۱۷/۱۰/

۱.کا   نوسید مچها د ۶آگا ،۸از  فر اد اد.۵،

ـــــــــــــــــــــــــــــــــــــــــ ر:ـ  د:ـــــــــــــــــــ 

نید.۲ ا ق   ما گو .

ــــــــــــــــــ۲۸و۳۵و۴۲ ـــــــــ

نید.۳ بد او د  ستند ا د   ر ا فر  جم .

۳۰۰=۱۷۰_۴۷۰ :

۷۴۸۰=۳۲۳۰_۴۲۵۰ :

نید.۴ ا  خا اجا .

عن ـــــــــــ د : ۳آ از۴ا 

:۱۳۸تر تا ــــــــــــ  تر ـــــــــــ عن تر تا

:۶۰۰۰ـــــــــــــــ  یوتر چند تر

نوسید.۵ سر ر حو  ک ر .

۱0

ـــــــــــــــــــــــ

۶.. ـــــــــــــــ ر شید ر ی هتر

ویا پرا⃝آ: :⃝قا :⃝ خط :⃝

چندا۷ یوتر  ؟۱۰۰. تر

⃝ا⃝:۳۰ا⃝:۵ا⃝:۲۰ا۱۰آ:



یااض) و(خد ا پاتد و

ا۱۷/۱۰/

ید..۸ شا حو   ر ا د

۲

۴
د ۳دعد

۹ ید شا ک ر ا ا .
۲

۴
=

۴

۸

۱۰ .⃝ل>ا<ا=.ید ر

 ص⃝آ:

:
۱

۳
⃝

۲

۶

:⃝

۱۱.  جو   چند قا ک  آ.

۴⃝:۳⃝آ: 

:۸⃝جو   :.د⃝



نوسید.۱۲  ر جم د ا .

۸۹۴۵=ـــــــــــــــــــــــــــــــــــــــــــــــ



یااض) و(خد ا پاتد و

ا۱۷/۱۰/

ند.۱۳  ا  ما گو ضر د .

۴۸۱۲۱۶۲۰ــــــــ 

۲۸=۴×۷⃝:۲۰=۴×۵⃝:۲۴=۴×۶⃝:۶⃝×۴=۲۸آ:

۱۴. پر نا د ا  خا اجا .

⃝×⃝=۳÷۱۸:۳=⃝÷۱۵:۲۷=۳:۵×۲=⃝×۵آ:

۱۵ا ضر ا آد.. د د تخو  ا ر

جم  ــ=←آ: ۴×۵ـــــــــــــــــــــــــــــــــــــــــــــــــــ

ک  :←=۶×۳ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

ید.۱۶ شا حو   ر سا .

:۲×۴=۴×۲

 و.یدا پیر



- وب اض یاب ژلید(بتد و پا

۱.:عد ۵۰۸۶ب:ر بهز پن  هشتا 

۲.۲۱۱۴۷

۳.

ف۴۷ـ۱۷=۳۰ :

۷۴۸=۲۳۷+۴۲۵ :

آ۴ .:۳۰۴۰:۱ ات۳۷تر تر :۶

۵: حو .
۳

۴
:ک

۲

۶

۶پرگا ) نگز( .

۷( آ. نا۱۰(گز

۸.

۴
۲

۴
۳۲۱۰

۹.

۱۰.ب صف<آ:

:
۱

۳
>

۲

۶

:
۲

۸
<

۴

۸

۱۱(.) نا۴گز

۱۲.

۵+۴۰+۹۰۰+۸۰۰۰جو:



- وب اض یاب ژلید(بتد و پا

۱۳) نگز( .۲۴=۴×۶

۶:۵:۷:۲:آ.۱۴

۱۵جم  .:۵+۵+۵+۵

: ک 

۱۶.

۸۷۶۵۴۳۲۱۰


